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i. 3x+6=3x+2)

ii. 4a2+ 12a=4a(a+3)

iii. n2+ 3mn + 4n + 12m = n(n+3m) + 4(n+3m)
=m+3m) (n+4)

iv. a(Zp-q) +b(q-2p)  =a(2p-q) - b(2p-q)
=(2p-q) (a-b)

1. Uemsu@mbd I FTHenllsCamenausen aelbsutaimblangid Sryenlsenst CoumiLBHHIS.
i. (@) 5a+10=
(c) 3p2q-6p= (d) 2a-4az=
(e) x2y-xy =
(f) 5a2-10ab - 5b2=

(@) p(m+n) +qg(m+n) =
(b) a2x+y) - b(2x+y)
() 3(x-2) -xy+ 2y

(d) 4a+8+ba+2)

(e) p2-pq+3p-3q

2. &6 syuu (heiten Camemeusmerilen sTTemllaemen GeumILI(hHdHIcb.
i a(p-q -b(g-p) a(p-q) +b(p-q)
(p-q) (a+b)
n(2m-n) - p(n-2m)
2a(x-2y) + 3b(2y-x)
4p(a+2b) - q(Z2b+a)

x(2b+d) -y(-2b-d)




< epamiliy SmuigsCorencimefe HTyeuwflEsei
9 SHIJ6mILD

X2+ 5x+6 =x2+3X+2Xx+6 +6 x X2
\
=X(x+3) + 2(x+3) +6X2
£
=(x+3) (X+2) (+3%) (+2%)

ii. x2-7x+6 =x2-6x-1x+6 +6\)i/X2
=X(x-6) - 1(x-6) +6X2
=(x-6) (x-1) (-6%?“)

iii. X2+x-6 =x2+3x-2x-6 -6 x X2
= - -6%2
X(x+3) -2(x+3) N
= (x+3) (x-2) (+3%) (-2%)

iv. X2-5x-6 =x2-6x+1x-6 -6 x x2
= - - - 2
X(X-6) + 1(x-6) %&
=(X-6) (x+1) (-6x) (+1x)

(01) Ueeumd cwaymiti] SmLIgsHCaTenausel @ealbeuTaimslengid sryanlsemen CoupiLihHHIs.

i. a?2+9a+8 ii. xX2+7x+6

viii. n2-6n-7

xil. y2+ 12y + 35




(02) eweymiti] SmLIgHCHTanaIBeN6 BTyemismeT (GLoaID)
(i) x2+7xy+10y2 =xZ+ 5xy + 2xy + 10y? +10y2 x x2
= X(x+5y) + 2y(x+5 10y2x2
X(X+0y) + 2y(X+0Y) i
= (x+5y) (x+2y) (+5xy) (¥2xy)

(i) m2+ 6mn + 8n2 (iii) p2- 9pq + 18q2 =
(iv) p?-8pq +15p?

(vi) a%-4ab - 5b2

03) wamiy RmusCaTanauseilsi SmyenissT (Ged)
(i) 3a2+4a+1 =3a2+3a+1la+1 +1V>;3a2
=3a(a+1) + 1(a+1) +?2\
(a+1) (3a+1) (+3a) (+1a)

(i) 5az+7a+2 (iii) 4x2-x - 3
(iv) 2x2+3x-5 (V) 6x2+3x-3
(vi)2m?2+ 7mn - 6n? =

(viii)6a2 + 7ab - 5b2 =

* Om aujbsnseilsd alGAWTFID apsold STFERIUILGHSH60.

(a+b) (a-b) =a(a-b) + b(a-b)
=a2-ab +ab-b2
=aZ-b?

45661 |a% - b2 = (a+b) (a-b) |

o HTT6NILD
i. x%2-9 =x2-32

=x+3) (x-3)




16 - a2 =42 - 32
=(4+a) (4-a)
m2n2-1 = (mn)* - 12
=(mn+1) (mn-1)
9a2-16 = (3a)* - 42
=(3a+4) (3a-4)
3p2-27q*>  =3(p?-99?)
=3(p? - (39))
=3 (p+3q (p-3Q

(01) Yeiteud SIL_Frsenils CaTemeuss @elCauTsienBud STFeulsenTs CoumbGhHaHis.
(i) nz-4 (i) a2-81 =
(iii) 100 -x2 = (iv)25a2 - 16b2=
(v) 16a2-1 = (vi) x2y2-9

(vil) 12x2 - (viii) 9aZ2-16=

(x) 9x%y2-1 =

* @m aujssnseilsy alHHurFsHder sryemiset (GLoailb)

9 SHIJ6mILD
L ox+2y-y?2 =(x+2)+y) (x+2)-y)
= (X+2+y) (X+2-y)

iil.  (x+2)°- (x+3)2 = ((x-2) + (x+3)) ((x-2) - (x+3))
=(x-2+x+3) (x-2-x-3)
=(2x+1) (-5)
=-5(2x+1)

(01) srrenlldenst CoumILIBHHHI%.

(i) (a+1)’-9 (2x+1)- 16




